22.05.2023p ®nthnjujwd Qunudubph  wjwl
I I |

Muwwndhpwwnnt Uptupp hwdwjupwwbnwpul
Spwahpp 2023p. 3wdwjupwihl pjnipthg hpwywliwgynn
Wujwuntdp Optuunhp W gnpdwnhp dwpdhlutph whnwywu
Pwdhu funwdp “wu Spwahp
1 1 1 51
QLUUL UNuUryush
ClUpw Qudwl| Qwihd
fiins = aup o7 Uhuwynph | Comadtun
CPV Wujwuntdp /pupw |Upwynn|  ShUp dwhuubp | Rwlwyp
nwuwywn gquiyw n e
1 2 3 4 5 6 7
Uwpwlplubp
Qptuwywl whwnyplbn
22811110fapwutljwyuwhl gpptn a3 hwwun
22811150funpwntnntn nGnhu Qa3 hwwn
?gguql;ggdwhb thwyintu $nunnpnine U4 a3 it
30192114 pwuwp, Luhph pwpahlh hwdwp a3 hwtn
30192121|qnhs qunhlwunp a3 hwtn 100 35000 350
30192128|anhy gGjwjhu Q3 hwwn
30192131|Uwnhu/ gdwgnuilywil/ a3 hwwn
30192720jJwnytn Q3 hwuwn 150 4500 30
30197332} vubhy/dhghl/ Qa3 hwn
30197340 Uwywyjuunhy Qa3 hwwn
30192100|ntwnhu Qa3 hwuwn
30197231}Duy 50 Uhypnl a3 wntth 1500 30000 20
uphy Q3 hwun
unphiulip.nnpdhl 6U],gpswjhu Q3 hwwn 250 12500 50
0junubidwUwwnnhun fantastic 15g Q3 hwwn 300 6000 20
dnnnuuEnh wwlwynpuwil pinyunnutp (A3 hwn
30197112 Luwphsh wubknutp 24/6 kangaro Q3 wntth 200 9000 45
30197111  Ywphsh wubnubp N 10 kangaro |33 wnith 150 5250 35
30197321 Yuwphs Uhlsle 20 phpph hwdwp Q3 hwwn
30197322 Ywnhy 20-50 ptppeh hwdwn Q3 hwwn 3000 15000
30197230jyndqwd , GpYwpjw a3 wntth 100 500
30197231 |pnewwwlwy Yunwyuwyny Qa3 hwun 150 7500 50
30197233 wpwawywn, unjunuwpnet Qa3 hwwn 100 20000 200
30197235 pnpwwwliwy, Yn2u Ywgund/ntghunp/ja3 hwwn 1000 50000 50
30197622|pnine, A4 $npdwwnh /229.7/ U-80g (A3 wnuh 2200 550000 250
39292510jRwlnl wjwuwnhy Q3 hwwn
30197646|pnLne, A3 $nndwinh /42 x 29.7 Q3 wneth 3700 18500 5
530192210 5%?;“&;”&2&’;;3'&3@ a3 huwn 500 5000 10
30192220 ;Eﬁﬂ;’ggﬂ;ﬁﬁﬁ’u“‘n:‘/qw a3 hwtn
30140000 hwouhy )




Uunwputiph hwdwn hupbwywgsniu

30199430 pbRhY Q3 hwwn 250 7500 30
30193700] 3npwnwnwy hwny&nnd/3hwnu/ Q3 hwin
30234620) |62 hhannnipe)nLl, 8 GB Q3 hwwn
39263500fwupwy, UGwnwnw Jhghl 25UU Q3 wnntth 150 3750 25
30199232 6nwn/114 x 162Uu/ Q3 hwwn 30 4500 150
30199232|6nwn/176x254Ud/ Q3 hwun 50 5000 100
30199232 6nwp/ U4 / Q3 hwun 70 10500 150
39241210) Qpwubljwywihu uynpwwn Q3 hwwn
Qpuwubnwuh gnswuinntth Q3 hwn
Cunwdtup 800000,000
Ytugwnuwjhu b hwbupwjhu ulunh UnLpkp
39831281 Qwlwqwu ultnwdpknp a3 npwuJ 1 306600 1
39812600 |Uwppnn thn2hutin Q3 hwwn 400 6000 15
39515440 |Ctpunwywpwgnyp 1*2p/d 1*2p/d Qa3 p/d
39221420  JUnwuwnwn dwppnn funquiliwy Q3 hwwn
39831276 | htnniy o&wr /5 hinpwlng/ Q3 hwn 3300 33000 10
39831273  |gnLqwpwlh dwppuwl Unptn a3 [hwin
39522250 |Pnph dwppnn 2nn Q3 3w 350 14000 40
39831280 [hwuwnwy dwpnbint hGnnwy /dwdt / Q3 lhwp 200 2000 10
39831210  JUwwup Jwpntint htnniy Q3 lhwp 1200 1200 10
33761100 jwwwyh dwppbint hGnny Q3 hwn 450 9000 20
15800000 |fenLne qniqwnwlh Q3 hwuwn 100 20000 200
39839300 |[Anquphwy Q3 hwwn
31531300 |Suwnbunn jwdwtn Q3 hwtn
39721500 |E| tnwpwgnighy Qa3 hwn
39831283 jwuwwyh dwppbinL 2nn Q3 hwun 500 15000 30
39812410 Rnuwaqbpdhy onh Q3 hwwn 700 14000 20
39221480 | Ywhnyjph thwytgowh dhong Q3 hwwn 1200 1200 10
39839300 |y pwhend/ hwywpwdne 10 hwn Q3 hwwn 15000 75000 5
STz ;;Cff;pwu e il hwun 1500 15000 10
38221350 ;;}“_fﬁ“;ﬁ”“ S et - hun 10 30000 3000
38831247 | w5y, unynpwluwib Q3 hwwn 1000 15000 15
2541000 | wnihtphiE0whG wwny, wnph hwdiwp |93 hwuwn 250 15000 60
38831270 |Uwntug /gnuiyyuwy/ Q3 hwwn 250 7500 30
39221490  |Unpwdwu nnujp /wthwphsnd/ Q3 hwwn
hwunwyh Juwgdwu jwe Q3 hwun 800 16000 20
39811300 |Qjwu phwy 1400 UU Q3 hwn 4500 22500 5
44831100  |3wuwwyh puntly /dwunhyw/ Q3 Uag
Ntghut dtnungltin Q3 anug 500 10000 20
“ny| wwuwnhy Q3 hwwn 1200 12000 10
39839300{4LGnph enRE upphsltn hwun 2000 60000 30
700000
punwdJtup
Swwnncy bLywwnwlwihu wj) UnLpbp
Swuwnnty bywwnwywiht Unwptbn a3 npwuJ 1000000 1000000 1




punwdJtlup 1000000
1
Spwluwnpuwjhtu UnLpb
34911150 2uwlwqwl wwhBunwdwubp Q3 npwuJ 1 2855000 1
09132200 PEUghu nGgnLywnp a3 thuin 360 2160000 6000
09134220 habjuwhu Jwntihp Q3
09132200 Q3
09211100  [pwndhgh jnLntn Q3 thunp 2000 200000 100
RWqwuwrhs NGty A nuun
ynGgbGunpwbwn, A-40 nwuh® 40 C
24951310  |wunhAwh uwrdwd a3 thunn 900 135000 150
otpuwunnh&wbny,A-65 nwuh® 65 C
uwrdwhb gbpiwunhiwiny
09211650 wngblwyh hennty Q3 lhup 1000 30000 30
09211400 thnfuwbgdwl wntthh jnin Q3 lhuip 2000 200000 100
09411700 |UGnujwd puwywl quiq uu Ug 320 1920000 6000
punwdJtup 7500000
Jdwpswlwl uwppwynpnidubn
39130000 |Hwpswlwl vuwppwybpnidutn Q3 Twdpnng. 1000000 1000000 1
39111180 |Upnn Q3 hwwn 1 60000 1
39121100/1 |hunphpnwygnipjwl ubnwlu Q3 hwun 1 440000 1
39121100/2 [Qpwubnwu Q3 hwwn
Zsﬁu;ﬂl:gg%,cﬁuzo,mgo uu_ hwon 175000] - 20000 2
Swhy uwpptn Q3 hwwn 150000 150000 1
punwJtup 2000000
U Ubptlwltp W uwppwynpnidubp
34100000 |Utptlwltn W uwppwynpnidutn Q3 npwuJ
34111130  |Uwpnwunwn wynndtpbuw Q3 npwuJ 0 0 0
SwnuwjnipjnLulbp
66511170
1311280 thnjuwnpwihgngbtph htwn Juwyws
wwwhnywagnwwl swewnipnibOep  |UY nnwy 800000 800000 1
tiEYwnpwlwi EGEpghwh htn
Lwwdwds swewnipintbltn uu npwJ 22000000 22000000 1
Ppwlwpwliwlywl swnwjnipjntulin Q3 npwuJ 1000000 1000000 1
LtpphU wninhuinh swnwjnipjnlulitn Q3 npwJ 1000000 1000000 1
dhopwnuwpwjhl hErwfunuwjhl
72400000 SwrwjnipnLbltn uu nnpwJ 1000000 1000000 1
79631400 Spwiluynpuiwhl uwnpwynpnLdln uu npwuJ 1000000 1000000 1
dwutwghwnwlywb Ynnilnpndwh
72590000 swrpwjnipnibbbp Q3 npwuJ 500000 500000 1
SwdwywnghsuGnpht wnrlydnn
72221130 dwulwghinwlwl swowjnugniilen— |UW npwyJ 2000000 2000000 1
50111130 h‘;‘;"ﬁﬁu‘miﬁ%ﬁ“ﬂi}iﬁ“g:tggg;““b“h uu nnwd 500000 500000 ]
Pwdhu tunudp “Hwu Opwahp
1 3 3 51
Swdwyw UGNhU wnusyn
72590000 CluﬂijI!lL[gjﬁlljlkJUb'[]lh o uu npwu 1
Pwdhlu funudp “hwu Spwahn
4 S 2 51




uptuh hwuJwjuph Unwyuwannp
puwywyuypnd <<dbtphu pwnh>>
nnngUwl gpwadh 400 gqboU hwwnjwdh i il 6723680 6723680
45231125 [ywnnignuf
Pwdhu tunwdp “wu Gpwghp
4 2 1 51
Swubwghunwyuwl ynninpnzawl
796314
s SwnwnLpntO0tn uu npwuJ 150000 150000
09411400 36NNy wpnwwl guq uu npwJ 800000 800000
Cunwdtup 950000
Pwdhu tunwdp “wu Gpwahn
6 3 1 51
Uptuh hwdwjugh ruwghy plwywyuwnnud
<<Uluwyunpty>> hwUnwJdwunw 1 Jwwwnwdh Gt npuwd 22953650 22953650
Ywnnignud, 2 Ywuwinwdubph pwpbywpgUwl
45241170 wohuwwnwlgubn
ruubnL gpwadh tunnnyuyubip Q3 Jtwp
Uptuh hwd.kdbn opwqdtph wwujinwd.jun Q3 Apwd
3wty bywwnwyuwjhl ujnLptp uu npwJ
Pwdhu tunudp “wu Spwahp
6 4 1 51
Pwdhu tunudp “wiu Spwahp
8 2 4 51
pun.punyp-wji own Q3 npwd 3000000 3000000
ysugwn.l. hwp.ubiinin. Q3 npwJ 1000000 1000000
hwwnty bupwnwl. ynephn Q3 npwd 300000 300000
Wdwilnpjw bysputn Junnuwnuiy/ Q3 npwd 1700000 1700000
CunwJtup 6000000
Pwdhu tunudp “wu Spwahp
9 1 1 51
39281100 |3wwnnLy lwwinwyuwihu YnLpGn Q3 nnwuJ |
45211228 Q3 Mpwd
Juwpswywl uwppwynpnLdutn Q3 npwuJ
32324900 |3GnnLunnwigntig uu hwwn
45610000|CELptn L 2hunipjnLlltph Yuwnnignud a3 npwd 343307930 | 343307930
45610000|Gthhup Jwlywwwpunbgh Ywnnignud 0 0
Pwdhlu runudp iy Spwahp
1 6 1
32333200 | Stuwhuydwl 3wdwywng uu npwd
79631400 | Uwuliwghunwyuwl swnwjnpjntlltbn Q3 npwd 5000000 5000000
45610000 |Gkuptn W ohunipjnLlltph Ywnnignud a3 nnwJ 86947380 86947380
45610000 |Uptuhh wywn wwnyh Yuwnnignid a3 npwd 0 0
71241200 bwrqubwhbqunmewU Swhuutp Q3 npwd 17774400 17774400
71241200|6|thhuh Jwiuywwwpntgh 2hu. nbhuhuy| 93 nnwuJ 5000000 5000000
CUnWUBLD 114721780
Pwdhu tunwdp “wu Gnwaghp
Pwdhl runwdp “Qwu Gpwahp




drLULUULUL sUNUSNFHE3UL MES

(GLhuUdNr/ 3UT4UNUR)

wuyb, Qphgnpjwl

Uptuh hwdwyuph Unwyuwanp
puwlwywjpnid <<dbphu pwnh>>
nnnqUwl gpwgdh 400 q6U hwunywdh
Jwnnigned
Assiicen ;‘,?jﬂhi‘;‘;ﬂ‘gzﬁjjﬁﬂf;”j;;'ﬁg;‘ﬂ}“ . a3 | npwd | 46549070 | 46549070
Pwdhlu unwdp “hwu Spwaghp
4 5 1 51
Pwdhu funudp “huu Opwahp
9 5 1 51
79631400
pun.plinyp.wy Swn uu 5000000 5000000
37451290 $nn. nuipwwul. gwlg W wy uynpu.ywjUud npwJ 374000 374000
18411300 $nunpnih gunuwy uu |gnyg 6000 108000 18
18411300 Uwnpunwjhl Jwpquhwagniun Ud  [hwwn 5000 105000 21
37451320 Aupywuwwwhh Jwpquhwagniun ud  |npwd 20000 200000 10
39281200 Awpwwuwwwhh atnung Uu  |hwwn 6000 48000 8
37311190 tunphpnwlwlwl bdkputn Uu  [gnyg
Untihy UU  |hwwn 400 16000 40
37451820 |2wlwqwl Unietp Uu  [hwuwn 1000 1000 1
Qujuwre uu  [npwd 80000 80000 1
Mwuwnyngntp L UGnwiutn Uu  |hwwn 600 18000 30
5 ) 950000




